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PART I /[ w1
MATHEMATICS [ mifira

The sum of the interior angles of a pentagon is | 1.
(A} B0
(B} B30°
1 I
oy 360"
(x-y+2 —(x—y- ) equals to 2,
(A) 2zi{x-y)
B} 2xiz=y)
(G} dxiv-=z)
(D) 4z(x-y) ,
A pelyhedron has 6 faces and 8 vertices, The g
number of its edges is |
a) 12

By 10

) 18

(o) 14

Population of &.city in 2012 was 30-3 million. 4,
This pumber is aame as

Tl ey % ariafew Wi 1 9hrew w2
(A) 540"
(B} 6&30°
{C) om0
(D) 46
(X=y+ z]E—-lI—_'i-'--xflz e E
(A) 2r(x-m
(B) Zx(z-v)

{C;/j.l-ir— )
£ 4zix-¥)

U AP g afi st § | s R
(=) it vl Enft

W ie

(Bl 10

P L

(Dl 14

2012 W 0% wex i wee 303 fifem & 1w
T 7§ T s @ 2

(A) 030000 (A)
() 30300000 (C) 30300000
(D} 303000000 PYeE03099000
The pumber 0-00000000837 s expressed in |5, FBU1 000000000837 . A=F 9 § % fomn
standard form as Eﬂﬂ?ﬂ"."'l—._.
_iy

(A) B3Tx10 p A) 837 x 107
(B) B3-T=il {(B) 837x10"®
() B3 10 (C), 83Tx107°
D 89k 10710 J.Br"aﬁf i
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(3}

Tf:,: — ¥ md ¥ = -L 'l.}l.1t1'l El'rﬂ'!ﬂ f'ﬂu.ml-"iﬁﬂ' B
gives the largest number 7

(A
(B}

K+ Y
=X¥

oy =
¥

i y-1

[rm&lmgthsqrﬂresidﬁufau-iungularpht 7.

are 30 m, 40 m and 50 m, then its area (in m’)
ia

I

T x = — 4 3 y = 4, 7 Frfrfim & 2 w94
Al W 7

(A} x+¥
(B) -xy
i X

¥
;I})/rfl
aft foreft Fref sve 61 el o eeE
a0 7., 40 T 3f 50 . 7, H IR T
(vft. 2 5) B

(A) GO0 :
;
LBy 450 B} 450
i 750 (D) 750 _
The perimeter (in m) of & square whose area is B TFF'T il 'qm _#) B wm T
equal to the area of & rectangle of length| &% (136 M. = 3T 3.4 . W %
186 m and breadth 3-4 m is ETed th WU 8 ) )
(A) 18 &1 18 @:L :
(B} 20 : (B} 20 ﬁ
) 272 (o) 27 - AT o
) 136 136
S eold o T.V. at 8% gaics Tiif ¢ boggoid [0 £ F 8% T W uw A, AW | AR
for * 750 more, the gain, woulh hade been r?m_#,mﬁm.ﬁmﬁwt
14%. The cost price (in T of the T.V was FtA, = wwm o (TA) @
(A} 12,500 (A 12, p
{B}- gpﬁ’m:l. E} L =
() 14,600 ° (57 14,600
(D) 12,800 R
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B

1, The average age of studenta in the class iélrln,

11.

1%

)smiﬁrmﬁaﬁﬂ-eﬂw 15EEd B 1w
158 yore. The average san of bon In el /3 s s o s B et
et T, i e e Y 155 | S W R S T
155 years. The ratio of number of girls to that :
of biys fir the chiies ﬂiﬂﬁrmmaﬁmmh
e e (B) 3:2
B 3:2 c 1:2
v 1:8 (D} 2:1
oy 2:1 : 5
mmmﬁnnﬂnmmmtmﬂ{”‘ ﬁﬂm “%yﬁﬂﬁ;'l:{mﬁwﬂ
of 4% per anoum. If its present population i & ﬁaﬁ“ﬁh Hﬁﬁtiﬂifl bk &
57600, then the difference in population of the i @ 31 3f wael ) S S
town two years before and after one year from o of o e & dE W se Fee
now will be wmr
{AY G820 LA) GE20
(B) 408 (B} 4608
(C) 7004 s;cn
(D) 7204
Tﬁuyﬂmng‘u,ﬂa]nwaé_fﬂrmhmuu llﬂ 'iﬁi,'ﬂ'{ﬂ m]ﬁﬁﬂlﬂﬂﬂiﬁ?
his son and two years hence, twice his age Will ahaﬁﬁil %_M
be. equal to, five times that of his aaﬂa;rﬂﬁ;qhiﬁ o
Diifference present ages is T‘-ﬂﬂﬁﬂ:ﬂ:ﬂ
(&) 24 years ) aﬂi
(B} 22 years (B} 2a8d
({0 EliEyearJ () s3Td-
(D} 28 years _,‘Mélﬂ":i

If the ratio of a to b is 2 1 2, and the raticof b
tocia 4 : 5, then the ratio ofdia + e iade — a)
is
1Y)
{B)
{C)

-
- .

167
4:53
23:7

M) 16:8 1

(o}

18, o a® bW I £ 3% 3 b# o F7 I
4:58, W p+ ) H (c— a) = 3T T
15:7
(B) 4:3
iy 23:7
My 15:8

e
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L S |

14 (wFErE & B v @l omE OB

14. The minimum number of tiles, each i
measuring 6 cm x 4 cm, needed to form @ E_ﬂﬂx#lﬁﬁm_mfﬁﬁﬂﬁmw
square (without overlapping) is T ) ST B 7
(4) § i (A} 8
(By 12 - {B) 12
) 4 Eﬁz"}ﬂ
o & L
15. The circumference of the base of a right era-gefin deemen o e T
MIHGMMME133¢MMdimlﬁ-fEﬁﬂj%#EWﬁiﬁﬂﬁﬁm3|miﬁ
height is 26 cm. The capacity of the pot, in ;
litres, is e, wfet #, €
(A) 8465 (A) ;y.
(Bl 3556 B 56
(G 11-85 () 11-65
() 23-16 (O} 28-15
16. The total surface srea of a solid cube is|16. WH 3WT U7 W Hey gk & 24 701 well # |
24 em”. The volume (in cm?) of the cube is o W e (59 A A dm
(A) 24 LAY 24
By 27 (Bl 2%
) 4 % ;
o 8 i . . >
17. Which of the following numhbera 17, FEia e
3 1 Sl Lo
—ﬂu,-? 5 10 20, i
is greater than its square ? o e A i E =l 2 7
(A) 10 (A} 10
{B) =20 B+ _-_...Eﬂ
1 1
oy = =
(i 3 {Ch 3
- q
(D} -4 () =i
EPACEIFOR ROUGH WORK / T T 2 TeTg =g
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18, The number of integers leas than

19,

21.

. .
-3 but
greater then — 8 is

(A} &

(B} &

) 3

D) 4

The distance between two places §s 12 km, The
scale of & map is given as 1: 25000, The
distance between the two places on the map,
in cm, is

(A) 48

(B} 54

(C) =24

(D 36
2 23 9 11 4

If e By Whorrrory. S| e i i
3’ 30" 10° 15 " § dre written in

descending order, the fraction in the middle
will b .

4
{A) =
.- B
23
36
iy 11
15
2
m =
{}3

If p=ﬂm+ 200 ond q:ém— E-"m,
then the value of p®— g2 is

(&) 3

(B) 4

@ 1
(o 2

P LAl

18. -3 & 912 Ry — 8 & W il it w2
B
8
3

=

—

C

iu

19. 3w S A 6 g 12 fel ) owfi &
farn 1 3 26000 R wan & | AP w ST
% a1 g0, il #, feeeh Bl 2
[A] 48
By B4
{

(D 36

2 25 ® 11 4
sn.ﬂﬁg.sﬁ.ﬁ,ﬁamgaﬂmﬁﬁmﬁ
v =, @ wén F & = fim W dm o

(A}

glm &n |

=
—

()

ol

21 <R pm 70 4 G0 G g - g0 _ 5200
a p'-q WOAHHET
ﬂ
e 1

D) 2
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23,

25,

L7 B

If x iz 50% larger than y and & is 26% larger
thar v, what percent is x larger than z 7

[A) 25
(Bl 35
i1 10
(D 20

The value of 720 x J180 is

(A} 240
(BY 180
iCh 270
My 380

What number should be subtracted from

B)em(d):

i
w3

(B}

i
pofes Filen 8=

(i

&

|

(D

The value of 1,1'15 J&J ia

{A) 8
(B) 16

(G} 161"5
oy 8d2

*
-

E‘LI ﬁirfﬁmﬁ%msliﬂﬁﬁmg-ﬂ
y;ﬁﬁhﬂﬂ agdr

(4
(B) 35

C) 10
(m Zzo

ag. J720 x J180 W1 HIA
(A} 240
(B} 180

(Cr o 270 S

24, (%] T & o [-g)ﬁﬂmm'mm

]
[ﬂ]—//ﬁl
o -1

2

25. :Jm-am.a;lmit

(A} B
By 1
T 1642

) adz

Z 8%,
243227

l:,.z'l.ﬂtﬂﬂ'“'
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AC) Seema Punia

(D} 2adnEhes

(8]

DI+

PARTII / wimT 1T
9 GENERAL STUDIES / W= 31tqq+

Which is the highest Sgallantry award in
[ndia ?

(A) Param Vir.Chaken

(B) Param Vishisht Seva Madal

(€) Kirti Chakra

(M  WVir Chakrs

The book “Discovery of India” is written by
(A) Subhash Chandra Bose

(B) Ll Bahadur Shastri

(C) Jawahar Lal Nehru

(D) Mahatma Gandbi

The sthlete whe_won a Gold Medal in

Commonwealth Games 2014 is aR

(A} Wikns Shive Gowda
{B} Satish Sivalingam

(D} Arpinder Singh

What is the length of each sfumpjimcricket ?
(A) 30 inches
{ﬁh a2 'u:-:hea;
(C) 25 inchas

Imwhich'city did the Asian Games take place
firet?

iAY New Delhi
{B) Bangkok
(C) ‘Tokyo

(D) Beijing

2T.

26. WA W Fared fim pean TR d e

Ma’r{w

(B) oy falire dan e
() i =%
(D) R =%

‘Tt s B (wam # @) T
ead & o

O W
(B) & =gl W)
(C)/ TEIE o e
(D) eres el

. " THEe T e E@e 2014 § w@ v
i, &

W e fird i
® e R
(Cy g
m) 3l

Ttz 7 vl vy ot v Rt Bt £ 0
(A} 3039
B 32
C) 5%
D) e

m.ﬁmﬁmﬁ@mﬂ‘amﬁrﬁaﬂﬁq?

tal = Rl
(B) wwiw
) afks
(D) fifay
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31.

(8)

M. Thambidurai, the newly eclected Deputy

‘Spepker of Lok Sabha, belongs to which

3:z.

a8,

party ?

{A) DMK

(B) AJADME
{C) BJP

(D} Congress

Total number of States in India after the

formation of Telangana State ia

(A) 29

(B} 30

(Cy 27

i 28

How many teeth areé known as milk teeth in
human beings ?

(A)
(B}
(C)
(D}

a0
22
1z
18

From which stage _ofySilkmbth is Silk
obtained 7
(A) Pupa
(B) Adult
(C)
(D0

Cofnom

Caterpillar

Which of the following blood groups is a
eniversal blood donoer 7

(A} AB
(B} O
) A
() B

B

$1. T W % A I, W, ovighi e

el % et g
(hy BmE
(B) TFHUEWmE
e

(D) Wi

32, e TeT % i & ae_anwe d as e

B B
o 29
(B} 50
(Cy 27
M 28

g8, W= & e ot = g % o wed E 1

&0
22

LAT
(B}
{c
(D}

12
18

m & 2§ Tew amen A e R ol oA
BT

W m
(B) W _

J(C) g,

D) e (gl

a5, Freifen # & S  wE w6 w T

B d e
(Al
~B)
(C)
(D)

:J!B}E'JE




(B

38, ATM stands for
Autematic Transfer Machine
Automatic Teller Mechanism

(A
(B)
()
ey

Automnatic Teller Machine
Automated Teller Machine

Medicine of Quinine is procured from
(A)
(B}
()
(o

Aconite plant
Ashoka plant
Eucalyptus plant
Cinchona plant

[}nenfthabeshﬂu!uhanstngatﬂduf
non-biodegradable waste is & F

Burying
Feescling
Burning

(&)
(B)
(Ch
(1) Dumping

The official legal/ advisge toothe State
Government 8 .

(A} The Attorney-Genaral

{B) Tht_ﬁl.dvmbﬁl!tlarﬂl

(G, The Ehief Justice

(D} Abench of High Court Judges

&olar eclipas pocurs when
[A) Sun comes between Moon and Earth
{B)
(il

(o

Moon ie at right angles to the Barth
Eﬂrth:u}m%hamaﬂlﬁu.u and Moon
Moon comes between Sun and BEarth

{10)

D1~
ag. ATM %1 o B &

par” SR glew T
By AR e W
o) AT dw e
(D) s T

g7, FA7 i T g w2
S 18 9

e i

T &1 o
i) 35 g B

Al
(Bl
{c)
)

b smfire w5 § e TR
e TS i §
il

(A T
(B) EEE ﬁ
) e =

(D) EEW

e e T e fafies R S 8

i rg € & 99

@ T, S v g e
By e, e & e wm
() ﬁ.@ﬁaﬂ:ﬂ%a‘lﬂmaﬁﬁi
@y W, v Tt & e
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41, UNteavielet raye coming from the Sun cause
A
(B

[y

(o)

Mouth Cancer
Liver Cancar
Lung Cancer

Skin Cancer

Salar Jung Museum i& gituated in
(Al
{B)
(C)
(m

Mumbai
Hyderabad

Chennai

Mew Delhi

Which country won the Thomas Cup 2014 held
in New Dethi ?

(A) Japan

(B}
(C)y Malaysia
(D) China

Indonesia

Whao is the Chairman of the Lok Sabha ?
(A) Speaker

(B} Minister of Parlifmentasy Affairs
(C) President

(D) Prime Ministe

A5 A*FeroHour" ins Parliament 15
LAY

(B)

When there is no official busness

Interval between
afternonn EessONS

I'.’ne morning  and

{(C) When the proposals of the nppusmun are

conzidered

(D) When matters of utmost imporiancs are

Faised

{11}

41, qgiﬁan‘ﬁaﬁwﬁﬁﬁﬁﬂmﬂwﬁti
(A) HE TR
(B) TFE
(C)  REE
)

49, T = i
e A
Xews 7
CELR

74 FEEen

[B)
o
({8
()]

43, =i e A g iy = 2014 =1 Fermn WA
iy

(AN I ..

(B, FERRRET

M.Eﬁﬁwmrmﬁtﬁmﬁq}ﬁﬁmt?
(A} weEE |
(B ﬁaﬂqnﬂﬁ%ﬁﬁ
© wER
(™ 7

45, T i o e g 8
w s e g

(B) W mﬁq@mmnﬂ%ﬁa
1 T

i) mﬁqﬁﬁﬁtmﬁlﬁﬁﬂtﬁm
i &

(D) mmﬁmm%mﬁmaﬁﬁ




™

47.

ai.

(12)

The Paitfisn {Javakwadi) Hydro-electric
project, comploted with the help of Japan, i8

fim Llis pawer
(A} Goidavan
(B Taptl
() Gangn

(0 Narmada

Ottawa is the capital of
(A} Greenland

(B) Canada

(C) Fij

(D) Biberia

Who deﬁ»:nred his first sermon at Sarfath®
(A) '
(B
{C)
(D)

Shankarscharyi
Parshavanath
Euddha

ﬁ..

Mahavir

Revenue syetem ' dufing |t Akbar's regime
wis Handled by

{A) Birbal

(B} “Bairam Kian

L2
(13 / Todarmal

Man Singh

The first Europeans to come to India were
(A
(B]

Portuguese
Druteh
{C) British

(D1 French

4.

47.

48,

DL-4
e < e & g g e e (T
m-ﬁg?luﬁﬁmt_,fﬁaaﬂqﬁ?

(A) iR

By A

{C) T,

oy T

v Tm a1 Toneh @ 7
(A) HFEE
B
o W
(Dy A

v e e e 3 fen = 7
gjfﬁqmﬂzi
(B) AT
(c)
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PART ITI | = 111
ENGLISH | S0t

Directions : Q. 61— 55 The following seniences are divided in three parts. One of the parts moy hauve an
error, [f there is an errar, sark the option of that porf a8 your answer. If there is o emor, mark option (I,

f

6L ﬂnn]!bﬂmwfynmp&n?fﬂﬂerrﬂr- :
B) [ L
e ; PO

B2, All this/ hnﬁumlfmmmyschml. { Ma errar.

AT (B () (D)

53. My sister ate/ o0 many mangoes | yesterday. / No errit.
(A} (B () )

54. Bananas are/more softer f than apples. / No ermor.
(A} Y (] \_Cff?

65. My brﬂhﬂfhasahnp!h:ﬂumhaifﬂnenw-

(A} (B} ] n)
Directions : Q. 56— 65, In the follotwing seiilfiices, | 585 He is aldo the Welfare Committee.
choose the most appropriste word, to fill in the {4) among
blanks, Maork the option of 0w ehoice a8, FoLr B} into
TS \_}Q"/in
(0} hetween
56. Flease buy _ “gbgar from the shop.
rA) Qittle 59, The examinations will begin __
(B) few Monday-
[ . from
{CFany LLM’FF
L (B by
L_I;Bf#’mma -
iy pimes
s Wifter his studies he waata tabe _ (D) during
i G0. The tableis covered  _ PBper.
(A a T 1
\ 7 en (B of
(m Mo word needed @ from




B

61. I really think you to take this job.
{A) should
(B) could

it

(D) ought

a2 1 on this design since 10 o'elock
h}dﬂ_y.
(4) have worked

J‘\—(:BT"_I,!I;:.man been working

(C) worked
(D) was working

63. Idoubt | he will pasa.
Mt
(B}
(C}
(D} whather

W

if

Everyone wants a prize in the race.
{A) tobewinning

(B) tohéve won

D "  cstodents mhis 1Iem.r¢.
@/Eanh |

{B) Al the

(i)
~ (D)

Mo

Every

(14}

IM.-4

Directions : @ 66 - 68 Read the following
gendences carefully. Choose the moest appropricte
word o fill in the blanks according to the context,

66. I__
(A) wish
(B) hope

Locy—want

(D) will

awatch for my birthday.

_ on the lightylfis dark

old,

=

(AY “grow
B make

OiC) tam
(D) fall

Directions : Q. 69 - 70. In the following senfences,
mﬁuﬁmuﬂuﬂhumﬂmﬂuﬁnﬂnuﬁﬂh

the blanks.

§9. The arrival of our friends made us happy bul
their made ns sad.
(A) leaving
(B) pgoing

departure
Last month the tomatees were quite cheap but
now they have become

{C) enough
(D) sufficient




DL+

Directions : §. 71 - 75, Read the following passage
carefully and answer the questions given ofler it

Garillas in the wild atate, live in family parties -
father gorilla, three or four of his wives and various
children of different ages. During the day they
wander through the forest, fea-ﬂmg on vegetation
anu:l t‘:mt., wlnm night comes l.hey choose a gmtable
tree Lo s]aepm l"ﬂt.hua'['g1:|1-i|lE|..]m=|,|'.||ﬂ,rnnn-huam-'].I and
'l:rig,munu-tchmhup mhemﬂeﬂsmmahu!huund
m.akusﬁ:rh:maalfn wmfnrﬁahlanﬂtat.thebum
uft.ha’a:m. sitting mlihhsﬁa:t_mthnliﬂmi. His

'Ei;:r'rau and children climb up into the branches above |

and make for themselves nice, comfortable destanto
gleep in. For this they twist and interwesve the
branches together.

Many stories describe the gorillans a-fearfil
beast. But he is nft sofearfub Like most wild
animals, if he isdeft aldne, he & a peaceful creature.
But, of cotirge, if you ablsck him or his family, he
gah.*';ul:ua bad temper, Then his strength and speed
make hima terrible animal to face.

7100 hen does a gorilla get angry ? '
He gets angry when

{A} he sits at the bottom of a tree
(B} he fs alone in the wild forest

iC] heis attacked

(15)

72,

Td.

75,

B

In pome of the stories gorillaa have béen
ghown as

(A wild
(B)  frightful
(C) faithfal

loving

Which af
truef?

£5) ;d:'mg]e gorillas cannot elimb trees.

{8\ Eather gorilla makes comfortable nests
to sleep in.

Gorillas are vegetarian.

the folloWing statements is not

()

(DY Gorillas live in family groups.

Why does the father gorilla slesp at the
bottorn of the tres T

(A} To catch hold of the baby gorillas if they
F-UII-. - "

E;_,.-'Fﬁ makes a comfortable nest there.
(C) He ia too big and heavy to climb op.

(D) Ha might fall down from the tree.

The passage ia about

(A} gorilla's nests

'l_j_B}"'/thr:nature of gorillas

(Cy father gorilla

(D) gorilla's eating hahits
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GENERAL STUDIES

(Answers with Explanation)

Que. 26 a India’s highest gallantry awards
1. Wartime gallantry awards

Param Vir Chakra — Highest military award for valour, equivalent to the Victoria Cross (which
was replaced once India gained its independence).

Maha Vir Chakra - The Maha Vir Chakra (MVC) is the second highest military decoration in India
and is awarded for acts of conspicuous gallantry in the presence of the enemy, whether endand, at sea or in
the air. Vir Chakra - It is third in precedence in the war time gallantry

2. Peacetime gallantry awards

Ashok Chakra Award - an Indian military decoration awarded for valour, courageous action or self-
sacrifice away from the battlefield. It is the peace time equivalent of the Param Vir Chakra.

Kirti Chakra - It is second in order of precedence of peacetime gallantry awards.
Shaurya Chakra - It happens to be third in order of précedence of peacetime gallantry awards.

Que. 27 ¢ The “Discovery of India” was written by India's first Prime Minister Jawaharlal Nehru
during his imprisonment in 1942-1946 at Ahmednagar in the Ahmednagar Fort.

Que. 28 a Here's a look at Indian athletes who won gold for the country:
1. Yogeshwar Dutt::Men's wrestling, 65 kg freestyle

2. Babita Kumari:;/Women's wrestling, 55 kg freestyle

3. Vikas Shive Gowda: Men's discus throw

4. Sushil Kumar: Men's wrestling, 75kg

5 Amit Kumar: Men's wrestling, 57kg

6. Vinesh Phogat: Women's wrestling, 48kg

7. Jitu Rai: Men's shooting, 50 m Pistol

8. Satish Sivalingam: Men's weightlifting, 77 kg

9. Apurvi Chandela: Women's shooting, 10 m Air Rifle




10.  Rahi Sarnobat: Women's shooting, 25 m Pistol

11. Abhinav Bindra: Men's 10m Air Rifle

12. K Sanjita Chanu: Women's weightlifting 48 kg category
13.  Sukhen Dey: Men's weightlifting 56 kg category

14.  Dipika Pallikal and Joshana Chinappa: Women's squash

15.  Parupalli Kashyap: Men's Badminton

Que. 29 d The overall width of each wicket is 9 inches (22.9 cm). Each stump is 28 inches (71.1
cm) tall with maximum and minimum diameters of 11/2 inches (3.81 cm) and 13/8 inches (3,49 cm).

Que. 30 a 1951 Asian Games, officially known as the First Asian'Games, was a multi-sport event
celebrated in Delhi, India from 4 to 11 March 1951.

Que. 31 b Munisamy Thambidurai is an Indian politician who serves as the current Deputy Speaker
of the Lok Sabha and leader of All India Anna Dravida Munnetra Kazhagam (AIADMK) in the Lok Sabha,
the lower house of the Indian Parliament.

Que. 32 a Andhra Pradesh was divided into two states, Telangana and a residual Andhra Pradesh on
2 June 2014. Hyderabad, located entirely within the borders-of Telangana, is to serve as joint capital for
both states for a period of time not exceeding ten.years. Now in India twenty-nine states and seven union
territories. In August 2014, the Govern- ment of Andhra pradesh announced that Vijayawada will serve as
the de facto administrative capital for Andhra Pradeshs

Que. 33 a Deciduous teethy also known as milk teeth, baby teeth, temporary teeth and now more
commonly primary teeth, are the first set of teeth in the growth development of humans and other
diphyodont mammals. Among decidu- ous (primary) teeth, ten are found in the maxilla (upper jaw) and ten
in the mandible (lower jaw), for@ total of twenty.

Que. 34 a Silkworm is the larva. It is an economically important insect, being a primary producer of
silk. When the latva enter the pupal phase of their lifecycle and enclose themselves in a cocoon made up of
raw silk produced by the salivary glands.

Que. 35 b There are four types of blood. They are classified as : Type A
Type B Type AB Type O

Blood is also classified by rhesus (Rh) factor, which refers to a specific red blood cell antigen in the
blood. If your blood has the antigen, you're Rh positive. If your blood lacks the antigen, you're Rh negative.

Blood type =~ Who can receive this type




O+ O+, A+, B+, AB+
O-  All blood types

A+ A+ AB+

A— A+ A, AB+ AB-

B+ B+ AB+

B- B+ B, AB+, AB-
AB+ AB+
AB- AB+, AB-

Type O — blood is considered the “universal donor” because it can be donated to people of any
blood type. Type AB+ blood is considered the “universal recipient” because people with this type can
receive any blood type.

Que. 36 d Automated Teller Machine or Automatic Teller Machine (ATM), is an electronic
telecommunications device that enables the customers of a‘ financial institution to perform financial
transactions without the need for a human. According to RBI regarding to deployment of White Label
ATMs (WLAs) existing rules/regulations only banks ‘arerbeing permitted to set up Automated Teller
Machines (ATMs) in India. Banks have played a major role in encour- aging ATM adoption and modifying
behavioral strategies in the domain of personal banking.

Que. 37 d Quinine occurs naturally in. the bark of the cinchona tree, though it has also been
synthesized in the laboratory.

Que. 38 b Biodbegradable waste.can be used for composting or a resource for heat, electricity and
fuel by means of incin- eration or'anaerobic digestion.

Que. 39 b In India, an advocate general is a legal adviser to a state government. The post is created
by the Constitution of India andrcorresponds to that of Attorney General of India at the federal or central or
union governmeént level.

Que. 40.d As seen from the Earth, a solar eclipse is a type of eclipse that occurs when the Moon
passes between the Sun and Earth, and the Moon fully or partially blocks ("occults")

the Sun. This can happen only at new moon, when the Sun and the Moon are in conjunction as seen
from Earth in an alignment referred to as syzygy. In a total eclipse, the disk of the Sun is fully obscured by
the Moon. In partial and annular eclipses only part of the Sun is obscured.




Que. 41 d Ultraviolet (UV) radiation is a major risk factor for most skin cancers. Sunlight is the
main source of UV rays. Tanning lamps and beds are also sources of UV rays. People who get a lot of UV
exposure from these sources are at greater risk for skin cancer.

Que. 42 b Salar Jung Museum is an art museum located at Darushifa, on the southern bank of the
Musi river in the city of Hyderabad, Telangana, India. It is one of the three National Museums of India« It
has a collection of sculptures, paintings, carvings, textiles, manuscripts, ceramics, metallic artefacts, carpets,
clocks, and furniture from Japan, China, Burma, Nepal, India, Persia, Egypt, Europe, and North America.
The museum's collection was sourced from the property of the Salar Jung family.

Que. 43 a Thomas Cup 2014 was the 28th tournament of the Thomas Cup and 25th tournament of
the Uber Cup, the premier badminton team championships for men and women respectively. It was held on
18-25 May 2014 at the Siri Fort Sports Complex in New Delhi, India. This is the first time India hosted the
two cups. The Thomas Cup final featured two teams not expected to make it there as Japan faced Malaysia.
In a back-and-forth contest, Japan

came out on top by a score of 3 matches to 2, winning their first Thomas Cup.

The Uber Cup final featured the top two teams, China and Japan. Backed by wins from the world's
top two singles players, China came out on top by a 3—1 score. It was their 13th title overall.

Que. 44 a Speaker of the Lok Sabha is the presiding officer of the Lok Sabha, the lower house of
the Parliament of India.

Que. 45 d It was during the 1960s when several issues of national and international importance used
to be raised by members of Parliament immediately after Question Hour (in Zero Hour). On one such
occasion, a member raised an_issue pertaining to policy announcements made by the ministers outside
Parliament when Parliament wvas in session. This act triggered an idea among other members who called for
another provision for discussing impor- tant matters in the House.

As the 9th Lok Sabha Speaker, Rabi Ray introduced certain changes in the proceedings of the
House to create more opportunities for the members to raise matters of urgent public importance. He
proposed a mechanism to regulate the proceedings during the ‘Zero Hour’, raise matters in a more orderly
manner and optimize the time of the House.

Members wishing to raise matters during the “Zero Hour” need to give notice to the Speaker prior
to the statt of the daily session. The notice should clearly state the subjects they want to raise. The Speaker
is the final authority who can either reject or accept such request.




Que. 46 a Jayakwadi project is one of the largest irrigation projects in the Indian state of
Maharashtra. It is located on

Godavari river at the site of Jayakwadi village in Paithan taluka of Aurangabad district in
Maharashtra

Que. 47 b Ottawa is the capital of Canada and the fourth-largest city in the country at a population
0f' 883,391 (2011 census).

Que. 48 c Sarnath is a city located 13 kilometres north-east of Varanasi near the confluence of the
Ganges and the Gomati rivers in Uttar Pradesh, India. The deer park in Sarnath is where Gautama Buddha
first taught the Dharma, and where the Buddhist Sangha came into existence through the enlightenment of
Kondanna.

Que. 49 d After the Sur dynasty was overthrown by the Mughals, Todar Mal continued in public
service. Todar Mal become the Finance Minister in Akbar's Darbar of the Mughal empire. Under Emperor
Akbar, he was made in charge of Agra and settled in Gujarat. Later, he was made ifi.charge of Gujarat as
well. He also managed Akbar's Mint at Bengal as well as served in Punjab.

Que. 50 a Long after the decline of the Roman Empire's sea-borne trade with India, the Portuguese
were the next Europe- ans to arrive for the purpose of trade first arriving,in May 1498. The closing of the
traditional trade routes in western Asia by the Ottoman Empire and rivalry with the Italian states sent
Portugal in search of an alternate sea route to India. The first successful voyage to India was by Vasco da
Gama in 1498, when he arrived in Calicut, now in Kerala.-Vasco da Gama, was a Portuguese explorer. He
was the first European to reach India by seas linking Europe and Asia for the first time by ocean route.

After Portuguese, Dutch came in India‘and then British, French and Danish.
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